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/*************************************************

p5 1.c
HIXETTO T T L
Tadaaki Shimizu 2006.11.10

*************************************************/

#include <stdio.h>

main ()
{
int multiplicand; // #3E
int multiplier; /] T
int product; // T
int sign; // T
int i; /] 1R
// BUEAT]

printf ("#IS5NBE - ") ;
scanf ("%d", &multiplicand) ;
printf ("#I5% - ") ;

scanf ("%d", &multiplier) ;

// IEfEH)
product = multiplicand * multiplier;
printf ("MULT : %d\n", product) ;

/] TFSOHE
if (multiplier < 0) {

multiplier = -multiplier;
sign = -1;
else {

sign = 1;

// BIHEOLE

product = 0;

for(i = 0; i < multiplier; i++)
product = product + multiplicand;

if (sign < 0) product = - product;

// EEREROH))
printf ("MULT : %d\n", product) ;
exit (0) ;
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/*************************************************

p5 2.c
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Tadaaki Shimizu 2006.11.10

*************************************************/
#include <stdio.h>

main ()

{
int dividend; // #iREK
int divisor; /] BREX
int quotient; // 0%
int remainder; // &9

// BUEAT

printf ("E5hz% : ") ;
scanf ("$d", &dividend) ;
printf ("#HIB% : ");

scanf ("%$d", &divisor) ;

// TEfRET]

quotient = dividend / divisor;
remainder = dividend % divisor;

printf ("DIV : %4, MOD : %d\n", quotient, remainder) ;

// EO R
if (dividend >= 0 && divisor > 0) {

remainder = dividend;
for (quotient = 0; remainder > divisor; quotient++)
remainder = remainder - divisor;
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else if(dividend >= 0 && divisor < 0) {

remainder = dividend;
divisor = -divisor;
for (quotient = 0; remainder > divisor; quotient++)

remainder = remainder - divisor;
quotient = -quotient;

else if (dividend < 0 && divisor < 0) {
remainder = dividend;

for (quotient = 0; remainder < divisor; quotient++)

remainder = remainder - divisor;

else if(dividend < 0 && divisor > 0) {

remainder = dividend;
divisor = -divisor;
for (quotient = 0; remainder < divisor; quotient++)
remainder = remainder - divisor;
quotient = -quotient;
else {
printf ("ERROR: 0 TOEDHEEHKEEA, \n") ;
exit (0) ;
}
// FEROHH
printf ("DIV : %d, MOD : %d\n", quotient, remainder) ;
exit (0) ;
}
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/*************************************************

p5 3.c
NNhDEZEES T TS L
Tadaaki Shimizu 2006.11.13

*************************************************/

#include <stdio.h>

main ()

{
int line; /] AT
int column; // M
int product; //

/] NIhoDXRZES

printf (" | 1 2 3 4 5 6
printf("-------------"-"“"""-"- "
for(line = 1; line < 10; line =
printf("%2d |", line);
for(column = 1; column < 10;
product = line * column;

printf (" %$2d", product) ;
printf ("\n") ;

exit (0) ;
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/*************************************************

p5_4.c

a4 VED T — L

Tadaaki Shimizu 2006.11.13

*************************************************/

#include <stdio.h>

#define MIN 1

#define MAX 4

#define FIRST 0 // el
1 //

// A >DE/NILD B
// A VDOEKELDE

main ()

{

#define SECOND %I

int total; /) A DR

int firstPlayer; /] B

int secondPlayer; /] 1B

int remainder; /) A DERD

int turnFlag; /] BB DT ST

int coin; [/ WAL D

/] A VOREAT

printf (" a1 O - ") ;

scanf ("%$d", &total) ;

if (total < 1 || total % 2 == 0)
printf ("ERROR: 1 YOiEIE 1M EOFHICLTTIE W, \n") ;
exit (0) ;

[/ 77— LBih
turnFlag = FIRST;
remainder = total;
ﬁrs?Player = secondPlayer = 0;
do
printf (" a1 2%50 : %d, ek : %d, %&: %d\n",
remainder, firstPlayer, secondPlayer) ;
if (turnFlag == FIRST) {
do {
printf ("X ar8E > ") ;
scanf ("%$d", &coin) ;
} while(coin < MIN || coin > MAX || coin > remainder) ;
remainder = remainder - coin;
} firstPlayer = firstPlayer + coin;
else {
do {
printf ("H&K a1 88 > ") ;
scanf ("%$d", &coin) ;
} while(coin < MIN || coin > MAX || coin > remainder) ;
remainder = remainder - coin;
} secondPlayer = secondPlayer + coin;
turnFlag = (turnFlag + 1) % 2;
} while(remainder > 0);// 7—LORTHE a1 VHHELE>76KDD
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/] T—LRT BECHE
printf (" a1 5D @ %d, ek : %4, %X : %d\n",

remainder, firstPlayer, secondPlayer) ;

if (firstPlayer % 2 == 0 && secondPlayer % 2 != 0)
printf (" JEHOBE \n") ;

else if (firstPlayer % 2 != 0 && secondPlayer %
printf (" BXOBH \n") ;

else

printf ("ERROR: FHEWMII—TJ, \n");

exit (0) ;
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